ZIELONY MROZOW etap IV~ 52/3\ mmmy

BUDYNEK IV, LOKAL C

‘ | o
POWIERZCHNIA 83,1 m? B E: \“ — ‘
OGROD 40,8 m? B | SiEl= .
- EE
==
| ‘ = =

a—

r N ==y \

‘I f" : “ “ L: j \‘
a : - | Parter 40,5 m?
| q i 1. wiatrotap 2,5 m?
| ]]DH | 2. WC 1,6 m?
i 9 i 3. hall 6,4 m?
| ) | 4. schowek 0,8 m?
i / i 5. pok. dzienny 22,8 m?

| A | + jadalnia

| bwi 3 | 6. kuchnia 6,4 m?
| --hj (4) % Poddasze 42,6 m?
1 M | 1 hal 2,9 m’
% 6 E i 2. sypialnia 10,1 m?
l ! 3. sypialnia 1,7 m?
% . L | 4. sypialnia 10,0 m?
L - | 5. tazienka 7,9 m?




